AP Calculus BC
Unit 11 — Day 2 — Assignment

#s1—2: Find dy/dx and d?y/dx2
Indicated value of the parameter.
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Then find the slope and concavity (if possible) at the
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#’s 3 & 4: Find all points (if any) of horizontal and vertical tangency to the curve.
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(©"'s) Find a@i@ of the tangwt the poin{ 0,2) y‘or x = 2cotf and y = 2sin’@,
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6) Find the total distance a particle travels along a path by x = t? and y = 2t on the interval
0 <t<2. (Calculator Active)
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7) A particle follows a path defind parametrically by x(t) = 46 - 3 and v (t) = 2t*. Whatis t (
of the particle at t =37 (Calculator Active) -

speed = N (812 + (LEH> = \r;"’rt?’* Bt

o IR [PTICREE S Wgﬂ

| Afine*
8) Find th area Of the region enclosed by the graph of x = 2sin?6 , y = 2sin?6tans, th(x@:
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